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Name - Start time- _ _: End time-_ _:

Divide 3 digit by 1 digit with remainder:

6 | 898 6| 432 6 | 816 71713

Word problems:

1.
2.

A goldfish costs S6. How many goldfish can | buy with $426.
Janet stacked 414 books on 3 shelves. If she filled up each shelf
with the same number of books, how many books were in one
shelf?

Melissa made 326 cupcakes. She packed 4 cupcakes into each
box. How many boxes of cupcakes did she pack? How many
cupcakes were left unpacked?

Victor opened a bag of pretzels and counted 567. He gave each of
7 friends an equal number of pretzels. How many pretzels did
each friend receive?

Marie had 240 cherries. She split the cherries evenly among 4 ice
cream sundaes. How many cherries did Marie put on each

sundae?

2 3 5 6 8 9
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